normalized X2

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

107}

1072

-3

=
(=]

[ normalized x? probability |

1269
1.045
0.7916

Entries
Mean
Std Dev

Std Dev. 0.7916
]

Entries
+ [ mean
. Lstdpev

2 4 6 8101214161820

LA

.,'\“

I.i ||4

m_

wmm— DQM_orig |na\_slepz_\tbar-phasel-newgeom
w—m—= DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

e DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom
weses DQM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

1.8

1.6}

1.4

1.2

0.8]

0.6]

iy

1.4

1.05)

0.95)

< X2/ ndf >

i

1.0

Ratio

10?

1072 107
0 AR(track, jet?



	Contents
	Page 1


